klasa
®) ,
™ UCZN e
>,
Zad. 1 Oblicz:

a) 164 - 164 + Y64 =
16 31 _
o) {2 1% -

¢) 115 -(-Y20 ) +752 =

d) 3i6 w8 -12 -122"=

124 72 _
115 : 15

e)

191971979 =

Zad. 2 Wylgcz czynnik przed znak pierwiastka:

a) 1125 =
b) 148 =

c) 156 =

Zad. 3 Wigcz czynnik pod znak pierwiastka:

a) 5V2=
b) 1173 =
c) 775 =
Zad. 4 Oblicz:
a) /128 —Vﬁ _ Wskazowka
V2 ) Zobacz ten przyktad:
7+2_7.2
10 ~ 10 10

b) (2732 +378 - 198): 12 =
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Zad. 1 Oblicz:
a) 132 - 181 + 164 =

0) V37 ~(-110 )+ 114 =

d) V4 +B2Z-12 -12% =

12724 _
118 : 16

e)

D 4Y14V474 =

Zad. 2 Wylgcz czynnik przed znak pierwiastka:

a) 172 =
b) 32 =

c) 148 =

Zad. 3 Wigcz czynnik pod znak pierwiastka:

a) 473 =
b) 1172 =
c) 717 =
Zad. 4 Oblicz:
a) W_m ) Wskazowka
13 B Zobacz ten przyktad:
7+2 7.2
10 ~ 10 10

b) (3798 +2V18-150): 712 =



